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Introduction

This is the second series of the examining of 5HAO1. In general, examiners indicated that candidates
were able to cope well with the paper and the overall standard of responses was most pleasing. There
was the full range of marks across questions in each option. However, there were some issues which
can be ascribed to poor examination technique, namely the failure to read the question carefully and
consequently writing irrelevantly at length: see Questions 2(c), 4(c) and 5(b)(ii).

Most candidates were able to answer the questions in their prescribed option within the Unit.
Examiners did not report candidates having problems with timing and thus it would seem that the
allotted time was sufficient.

It was pleasing to note that notice was taken about the use of the space provided for answers i.e. the
space is more than we would expect any answer to take, it is not a recommendation of the amount
candidates should write.

The approach to individual questions is considered in the reports on the separate options. An example
from a candidate’s response in the examination is given for most questions. Please note that, on
occasions, part answers only are given as exemplification, not full answers. As in 2010, a general
summary of areas for improvement in the approach to some of the question types (which are common
across the six options) is given below.

» On occasions in Question (a), candidates tended to write at too great a length. It is sufficient to
make a simple point with some amplification. This can be done in one sentence.

» The two questions in (b) provide the opportunity for candidates to show that they have a sound
understanding of key facts around an important event in the specification. Marks are awarded for
providing factual support for statements made, with three supported statements marked at the
top of Level Two. Candidates do need to ensure that they cover three discrete points.

In Question (b), candidates need to focus on key points and these can be causes, events and
consequences. This time, there was very clear evidence that many knew that three developed points
had to be covered and they were clearly signposted for the examiner. Many candidates ensured

that examiners were aware that separate points were being made by using such terms as ‘firstly’
‘secondly’, ‘another way’.

Many candidates did respond by beginning with ‘one feature’ and then moved to ‘the second feature’.
The best candidates tended to write in a more sophisticated manner.

In Question (c), answers should limit themselves to causes, not a description of the event or policy. In
some instances, candidates drifted into a narrative and did not focus sharply on the demands of the
question. In Question (c), in order to reach the top of Level Two, candidates need to consider three
causes. Candidates did move more readily into Level Three this time because they were able to see
links and/or did offer prioritisation.
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Question 4(a)

Many candidates wrote about the decisions made at Yalta rather than focusing on the reasons behind
the conference. There needed to be more deliberate reading of the question.
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Examiner Comments

The candidate wrote about the future of Germany and issues relating to it. A developed
statement securing Level Two marks.
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Examiner Comments

This was a simple statement and was awarded Level One.

Examiner Tip

To gain two marks, you must make a point and then add to it. The best way to show that

you are doing this is to use the words in the question as a starting place and then give the
examiner a developed point. Here the candidate needed to go further and mention a problem
for Germany’s future.
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Question 4(b)

Both questions were popular and there was the full range of marks. However, in 4(b)(ii) there was a
tendency to confuse leading Hungarian names and some even brought Dubcek into the Rising.
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Examiner Comments
The first part of the response is not relevant but then towards the end there is material

which can be credited. The specific points were credited as simple statements and a
top Level One mark was given.

Examiner Tip

Why not begin with the words used in the question in order to bring some sharpness to the
response and avoid irrelevancies.
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Examiner Comments

This was an excellent response which was clear and focused. It was awarded top Level
Three marks. A good example of what can be done.
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Question 4(c)

This was a question where some candidates did not pay close attention to the dates. Many wrote at
length about events before 1949 and disregarded the specified period. Some wrote only about the
Blockade/Airlift. However, those who did focus on the specified period presented a range of causes
focusing on the airlift, the alliances and the arms race. There were some who discussed the spread of
communism and the Korean War.
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Answer Part (c).

(c) Explain why relations between the USA and USSR worsened In the years 1949-55,

(12)
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Examiner Comments

Though the response meanders a little there was sufficient to award a low Level Two
mark following the discussion about the arms race. The final part was not relevant.

Examiner Tip

It is crucial that any dates are examined carefully - they will always be critical ones, as in
this question.
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Answer Part (c).

(c) Explain why relations between the USA and USSR worsened in the years 1949-55.
(12)
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Examiner Comments

The response presents a brief introduction and sets out some of the reasons for change.
Though there is the error about Stalin and the Warsaw Pact the candidate was aware of
events and their impact. Judgement is offered and the answer was placed in Level Three.

Examiner Tip

If a candidate is unsure of the author of e.g. the Warsaw Pact, then it might be more
appropriate to indicate which country was responsible for it.
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Question 5(a)
There were some good and especially detailed responses for this question.
Answer Part (a).

(a) Describe one reason why the summit conference between Eisenhower and
Khrushchev in May 1960 collapsed.
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Examiner Comments

A good answer replete with detail. A Level Two mark was awarded.

Answer Part (a).
(a) Describe one reason why the summit conference between Eisenhower and
Khrushchev in May 1960 collapsed.
(2)
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Examiner Comments

There was knowledge displayed here but the response did not fully apply
itself to the question. Some credit was given.

Examiner Tip

Candidates need to ensure a sharp focus and ensure clarity. Above all,
ensure the response is directly focused on the question.
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Question 5(b)

Both questions were equally popular and both, in some cases, had responses which showed either
confusion or a lack of care when reading the question. In (b)(i), some candidates did not see the date
for the Berlin Crisis and therefore the Blockade and Airlift were discussed. In (b)(ii), the key phrase
‘events of the Cuban Missiles Crisis in October 1962’ was sometimes disregarded and consequently the

narrative of events from 1959 was given.
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Examiner Comments

and the separation of the ideologies. A Level Two mark was awarded.

The candidate was able to discuss the issue of refugees, the Wall and Khrushchev
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Examiner Comments

Though this response begins with events in 1959, it is quick to move to the crisis
and gives a sound overview of the crisis. It was placed in Level Two - it looked at
the placing of the missiles, the US reaction and the end of the crisis.
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Question 5(c)

Knowledge displayed in this question was frequently rather good and responses were often quite
extensive. However, a point remarked on by many examiners was the confusion some candidates
had between the Czech Crisis and the Hungarian Uprising. Some responses either confused names or
conflated events of the two.
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(c) Explain why Soviet and Warsaw Pact forces invaded Czechoslovakia in 1968.
(12)
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Examiner Comments

There was one cause examined here and this was therefore placed as a Level Two mark. The
development was a little thin.

Examiner Tip

This candidate had actually written ‘Prague Spring’ at the top of the page as an aide
memoire but then did not mention it. If time was short, then it would have been
advisable to avoid writing the first sentence, which says nothing, and then amplify
the ‘Prague Spring’ as a cause.
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Answer Part (c).

(c) Explain why Soviet and Warsaw Pact forces invaded Czechoslovakia in 1968.
(12)
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Examiner Comments

This was a sound answer which offered breadth, depth and the key features of
Level Three.
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Question 6(a)

There were many vague and thin responses to this question. Candidates frequently did not expand on
the simple point that was being made.
Answer Part (a).

(a) Describe one decision made about human rights in the Helsinki Agreements

(1975).
(2)
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Examiner Comments

This was a simple statement and was awarded Level One.

Examiner Tip

The basic point has been made - candidates need to remember to expand on it.

Answer Part (a).

(a) Describe one decision made about human rights in the Helsinki Agreements
(1975).

(2)
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Examiner Comments

Clear context and development is offered and a Level Two mark was awarded.
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Question 6(b)

Both questions were equally popular and the knowledge displayed was, in many cases, most extensive
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Examiner Tip

Having made a basic point remember that to move to Level Two it needs to be
substantiated with some detail.
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Examiner Comments

A good response which covers the summits and presents clear knowledge of the
topic area. A top Level Two mark was awarded.
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Question 6(c)

Most candidates did acknowledge the dates for this essay and were able to write well about the key
events and the notion of change. Many candidates wrote that Afghanistan is an oil-rich nation and
there were some who wrote about Gorbachev.

Answer Part (c).

(c) Explain why relations between the USA and Soviet Union changed in the years
1979-83.
(12)
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Examiner Comments

Though the response begins satisfactorily, it did not develop the notion of invasion. It did
develop the idea of Olympic boycotts and as a result was moved into low Level Two.
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Answer Part (c).

() Explain why relations between the USA and Soviet Union changed in the years
1979-83.
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Examiner Comments

This was a detailed response which offered breadth, depth and judgement. It was placed in
Level Three. It has the briefest of plans, it is direct and presents clear judgement.






